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2
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GENERAL MARKING NOTES
Give full marks for answers only, unless stated otherwise.
Accept any alternative, correct solutions that are not included in the marking guideline.
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1.1 DV 1 mark for correct | (1) K
answer
1.2 BvY 1 mark for correct | (1) | RP
answer
1.3 Bv 1 mark for correct | (1) | RP
answer
1.4 Bv 1 mark for correct | (1) | RP
- answer
Z| 15 AY 1 mark for correct | (1) | CP
®) answer
5| 1.6 DV 1 mark for correct | (1) | RP
L answer
21,7 AY 1 mark for correct | (1) K
4 answer
1.8 cv 1 mark for correct | (1) K
answer
1.9 Bv 1 mark for correct | (1) K
answer
110 |cVv 1 mark for correct | (1) | CP
answer
Total Marks for Question 1 | [10]
2.1 9 000 000 v 1 mark for correct | (1) | RP
o~ answer
Zz|22 3v 1 mark for correct | (1) K
©) answer
=123 0,125 v 1 mark for correct | (1) | RP
& answer
8’ 2.4 1v 1 mark for correct | (1) | RP
answer
Total Marks for Question 2 | [4]
3.1 585 584 — 45 759 = 1 mark for the (2) | RP
™ correct place
Z 585 584V’ values
Q - 45759 N t
- mark for correc
$ = 539825 825v answer
)
o
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3.2 7634 x 345 = 2 marks for the 3) | RP
7 634 correct
multiplication
x_345 steps.
38 170
305 560V 1 mark for the
+ 2290 200V correct answer
= 2633730V
3.3 61 remainder 20V’ 2 marksdfor the (3) | RP
correct division
M6852‘/ steps.
ﬂ¢ 1 Mark for the
132V correct answer
112 (Accept thod. if
. ccept any method. |
20 remalnder the angweryis correct
award full marks)
34 2 3 2 1 mark for 3 RP
5 3 + 4E 5 3 + 4% denominator 3)
(LCM)
= 2x2y 3 =42, 67 1 mark for adding
(5+4) (8X2) * 16‘/ 8 * 16 1 mark for the
—9 +(i + i) v :(42X2) N 67 final answer
16 16 8x2 16
=9 +l = 84 + 67
16 16 16
16 16
=9 l\/
16
Any correct method is allowed.
3.5 56,63 + 17,03 = 1 mark for the (2) | RP
correct place
56, 63 values
+17, 03V N t
— mark for correc
=73.66" answer
3.6 15+ (30 x6 —3) 1 m;':lr_k for 2 | RP
= - applying
15+180 -3 v BODMAS rule
=192V 1 mark for correct
answer
Total Marks for Question 3 | [15]
4.1.1 | Stage Number 1 2 13 5 10v" 1 mark for each (2) CP
< correct answer.
= Number of 1 5 9 17‘/ 37
Q circles
|_
ﬂ 4.1.2. | 4n -3V Y an¥’ 11 mark. 2 CpP
) -3\/ ;1 mark
Ora2 71V 1 mark for correct | (1) | RP
’ answer

Total Marks for Question 4

[5]
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QUESTION 5

5.1 Properties | Parallelogram Rectangle 1 mark for each (4)
of 2D correct answer.
shapes
Names Two opposite angles | All four angles of a
Angles of a parallelogram rectangle are right
are equal. v/ angles. v/
A parallelogram has
two acute angles
and two obtuse
angles. v/
Any of the two
Lengths Opposite sides of a | Opposite sides of a
Side parallelogram are rectangle are equal.
equal. v* v
Opposite sides of a | Opposite sides of a
parallelogram are rectangle are parallel.
parallel‘/
Any of the two
5.2 Name Number of | Number of edges | 1 mark for each (3)
faces correct answer
Triangular Prism v/ 5v/ 9v’
5.3 One line of symmetry\/ 1 mark for correct | (1)
answer.
5.4 Rotationv” 1 mark for correct | (1)

answer.

Total Marks for Question 5

[9]
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for Question 8

[3]

Mathematics 5 NW November 2024
Grade 6 — Marking Guidelines
6.1 2 3%y 2:6v 1 mark for the ) [ cp
12 1 6:36 v method
=72 1 mark for the
12 answer
= 6\/
6 cups will needed.
ol 6.2 % x % =200g v 1 mark for method | (2) | CP
g 800g — 200 g = 600gv’ 1 mark for correct
= 600g of the cereal is left in the box. answer
& 6.3 L=15m + 2m +2m 1 mark for each (3) PS
8 =19m v’ correct answer
W =8m +2m + 2m
=12m v
P =2(L+W)
=2(19+12)
=62m v
6.4.1 6cm v 1 mark for correct | (1) | RP
answer
6.42 |4cmY 1 mark for correct | (1) RP
answer
6.4.3 | 24 cm2v 1 mark for correct | (1) K
answer
Total Marks for Question 6 | [10]
7.1.1 |16 m =16000mm v 1 mark for the (1) RP
; correct answer
O|712 |825kl=82501V 1 mark for the (1) RP
= correct answer
n|7.2.1 | 3hours 1 mark for the (1) CP
L:')J correct answer
O 7.2.2 | 4:15am 1 mark for the (1) CP
correct answer
Total Marks for Question 7 | [4]
ol 8.1 ANC 1 mark for the 0 K
= correct answer
Q| 8.2 45.6% - 21.7 % = 23.9% 1 mark for the (1) RP
= correct answer
& 8.3 2,3% 1 mark for the (1) K
- correct answer
o Total Marks

GRAND TOTAL =60
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